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Run 4608 mpswise, accO: All

Enilries: 13316346

Mean: 91853 4 0.0025

Sid Dey: 28739 - 00014
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AcciNAccD

Run 4608 mpswise, acc0: Beam ON, Laser ON

—— Helicity==0
— Helicity==

Eniries: 342841

Mean: 11.6166 «/- 0.0010

Sbd Dey: OLE721 - D.00OT

Enitries: 342605

Mean: 11.6543 /- 00000

Std vz 05707 4 0.0007
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Run 4608 mpswise, acc(: Beam OFF

Enlries: S0605

Mean: 07613 +/- Q.0007

Sid Dy 01662 - 00005
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AccliNAccD

Run 4608 mpswise, acc0: Beam ON, Laser OFF

— Helicity==0
— Helicity==

Enitries; 208425

Mean: 72781 +- (LODE

Sid Drev: 03210 & 0.0004
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Run 4608 mpswise, AccO/NAccO:mpsCoda, beam ON, laser OFF
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mpsCoda

Run 4608 mpswise, AccO/NAcc0:mpsCoda, beam ON, laser ON
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Accl/MNACCD

Accl/NACeD

Run 4608 mpswise, AccO/NAccO:mpsCoda, beam OFF
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Run 4608 mpswise, AccO/NAccO:mpsCoda, beam ON, laser OFF
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